
1
The Concept of a Cold War

A war is usually seen as a clash of armies but a Cold War is one where the main opponents never actually meet in battle. They use propaganda and psychological points to try to score against each other. Each tries to build up a support base of other states in order to show that their way of life is better than that of their opponents. The Cold War is the clash of ideologies that developed between the free capitalist democracies of the West led by the U.S.A. and the communist states of Eastern Europe under the domination of the U.S.S.R.

Capitalism is an economic system which stresses the right of the individual to choose what he or she wants from life in terms of career choice, place of work, social activities, etc. It links with the idea of democracy which emphasises the individual's right to participate in the ordering of society and government.  Communism stresses the importance of the community in the form of the state which controls every aspect of life. It stresses the planned economy and prohibits private ownership of property or business and is therefore in many ways the opposite of capitalism. The two systems are bound to come into conflict in a world that was beginning to become the global village of today.

2
Areas of conflict emerge

2.1
Germany

The old saying of my enemy's enemy being my friend is what brought the Grand Alliance of World War II into being. Neither Britain nor the U.S.A. had any reason to befriend Stalinist Russia until Hitler invaded it in 1941. Opposition to Hitler created the alliance and it is not surprising that once he was in retreat, it began to show signs of cracking. Tensions between the Big Three as Churchill, Roosevelt and Stalin were known were seen at the Yalta Conference of February 1945 by which time Germany was in retreat. One of the issues was what would happen to Germany after it surrendered.

At Yalta it was agreed to divide Germany into three occupation zones under military command to ensure the denazification and demilitarisation of the country. Berlin, as the capital, would be similarly divided. Issues such as the nature of the co-operation among the powers were not clarified. Later, at the Potsdam Conference (July 1945), it was agreed that there would be a fourth occupation zone for France carved out of the British and American zones. It is significant that at Potsdam only Stalin of the Big Three was still there. Roosevelt had died and been succeeded by Truman in the USA; Churchill had lost the first post-war election and been replaced by Clement Atlee. Although an Allied Control council was set up to co-ordinate the policies of the occupying powers, it was ineffective in preventing quarrels among them. Issues like reparations were a major cause for division and there was in practice little co-operation. Early in 1947 the Americans invited the other powers o join their zones to the American zone. Britain responded and Bizonia emerged. In 1948 France linked her zone and it became obvious that there were two very different Germanys beginning to emerge.

The Western zones wanted to introduce currency reform and tried to get the Russian zone to agree to a new single currency for all Germany, but it refused. They went ahead within their zones (including West Berlin) while Russia hastily brought in her own new currency in the Eastern zone. Russia reacted to this by creating "technical problems" which meant that all road and rail links between West Berlin and the Western zones were closed in what became known as the Berlin blockade.  

The West had three alternatives: they could abandon West Berlin as Stalin hoped; they could launch a military attack to force their way through to West Berlin; or they could airlift supplies to the city. They chose the airlift and for approximately 11 months West Berlin ws supplied with everything it needed by air. It was a remarkable achievement as the city needed at least 5000 tons of supplies (coal, food, clothes, everything) a day and the aeroplanes of the time were much smaller than those we have today. When Stalin realised that the Western Allies would not give up on West Berlin, he re-opened the road and rail links. All co-operation between the sections of Germany had effectively ended because of the blockade and airlift and during 1949 two separate German states were announced - the German Democratic Republic (East Germany) and the Federal Republic of Germany (West Germany).

2.2 Poland

When Germany invaded Poland and started the Second World War, a government in exile soon formed in London. Later a Polish Committee of National Liberation was formed as a resistance group which was dominated by communists. In 1944 Russia broke off its relations with the London Polish government in exile and recognised this committee instead. Conflict between the two groups and the issues of recognition and boundaries was to lead to Soviet troops standing by to watch the Polish Home Army lead a rising in Warsaw against the Nazis. This meant the defeat of the uprising and of the only powerful group in Poland that would have backed the London Poles against the communists was effectively destroyed.

It was the issue of whose troops were where that determined the future of Poland. Soviet troops were there and favoured the communist backed committee - now known as the Lublin Poles - which Stalin had instituted as the government of Poland. Unless the London Poles accepted the new Russian initiated eastern border of Poland, Stalin would not allow them any say in the new government. This was another cause of tension between the former allies. Poland's western boundary was also a source of tension as the West saw the westward shift of Poland as a part of a Soviet policy of expansion.

2.3 Greece & Turkey

During the period of Nazi occupied Greece, the main opposition to the Nazis came from the Greek communists. After the Germans left a non-communist government was set up and Stalin ordered the communists to co-operate with it. In December 1944 they did try to take over the government but British troops prevented this. Elections in 1946 returned a right wing royalist government. This result triggered a communist revolt and a civil war which lasted until 1949. Britain had been supporting the Greek government but in February 1947 warned the USA that she would be unable to continue to support Greece.

Turkey was also under pressure from communists and Stalin was trying to obtain military bases in Turkey which worsened East-West relations. In 1946 an American naval task force on a visit to Turkey had helped it to resist Soviet demands but the Turkish army and economy were both in need of reform and strengthening. Britain had been the main power in this area before the war but could no longer carry the financial burden of supporting these countries.

The American administrators were quick to see the need to intervene as they believed that the loss of Greece and Turkey to communism would destabilise not only the Eastern Mediterranean region but all of Europe. They had to battle to get Congress to agree and to vote money for this aid. President Truman therefore expressed the need in general terms of supporting free peoples against authoritarianism. 

3 Truman Doctrine
Truman spoke of an ideological conflict between free democratic countries and authoritarian nations. Although neither Greece nor Turkey was democratic, he used the need to help and support them as his underlying argument. His Truman Doctrine did not specifically mention communism but it was obvious to his American audience what he meant when he spoke of a "way of life  ... based upon the will of the minority forcibly imposed upon the majority. It relies upon terror and oppression, a controlled press and radio, fixe elections and the suppression of personal freedoms."  (Address to Congress, 12 March 1947)

 The doctrine gained acceptance and was to direct US foreign policy for years to come.


4 Marshall Aid
Truman asked Congress for $400 million for aid to Greece and Turkey which began the movement of aid to Europe. It was obvious that aid to those two countries could not prevent a threat of communist take -over in the rest of Europe and in June 1947, Secretary of State, George Marshall, put forward a plan to help Europe to restore its economy. It was to help Europe to get its factories and farms operational again through a programme of assistance in money, machinery and supplies provided that the countries which received this aid organised its distribution and use among themselves.

Marshall, in outlining the plan was definite that: "Our policy is directed not against any country or doctrine but against hunger, poverty, desperation and chaos. Its purpose should be the revival of a working economy in the world so as to permit the emergence of political and social conditions in which free institutions can exist  ...". Russia and its East European satellites were invited to take part but refused. In Europe the Organisation for European Economic Cooperation was set up to coordinate Marshall Aid and it was to be stepping stone towards the greater economic cooperation that has ultimately led to the creation of the European Union.

Stalin saw Marshall Aid as a plot to subordinate Europe's economy to that of the USA and for this reason refused to accept the aid - and refused to allow any of her satellite states to accept it either. Instead Stalin oversaw the creation of Comecon - an economic linking of the communist states of Eastern Europe. 

Multiple choice:

1
Tensions among the Big Three allies of World War II were showing at:

a) the 1943 Casablanca Conference

b) the Teheran conference (also 1943)

c) the Yalta conference Feb. 1945

d) the Potsdam Conference July 1945

2
At Potsdam the big three countries were represented by:

a) Stalin, Churchill, Roosevelt

b) Stalin, Attlee, Truman

c) Stalin, Attlee, Roosevelt

d) Stalin, Churchill, Truman

3
The Berlin blockade was caused by:

a) the quarrel over reparations

b) the West's refusal to continue to supply Russia with German manufactures

c) the introduction of a new currency into East Berlin

d) the introduction of a new currency into West Berlin

4
The Warsaw rising in Poland was instigated by:

a) the London government in exile

b)The Polish Home Army

c) the Lublin Committee

d) the ordinary people of Poland

5
The 1946 elections in Greece led to:

a) a communist government

b) a left-wing royalist government

c) a right wing royalist government

d) a coalition government of monarchists and communists

6
Britain gave up her support of Greece because:

a) she could no longer afford the costs of keeping troops in Greece

b) the USA had taken over this role

c) Greece had become communist

d) The Greek government asked Britain to remove her troops

7
The Truman Doctrine of 1947 promised:

a) Marshall Aid

b) defence against foreign invasion

c) to support free peoples (countries) to help them to stay free

d) to spread capitalism throughout the world

8
Marshall Aid was:

a) aimed at destroying Russian influence

b) to encourage the re-armament of Europe

c) limited to countries friendly to the USA

d) to revive a working economy in the world 

9
Which of the following statements is false?

a) Stalin welcomed Marshall Aid

b) Stalin refused to accept Marshall Aid

c) Stalin formed Comecon to counter the impact of Marshall Aid

d) stopped the countries of Eastern Europe from accepting Marshall Aid.

Long Questions:

"The collapse of the Grand Alliance (USA, UK & USSR) at the end of World War II was as much a result of the change in the leadership and personalities involved, as it was a result of conflicting political-economic policies." Discuss. 
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The Truman Doctrine:


I believe that it must be the policy of the United States to support free peoples who are resisting attempted subjection by armed minorities or by outside pressures.


[The US would co-exist with communism where it already existed but would try to contain its spread.]
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